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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-1_0
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G3-1

BrE | GEBAK @) | ERE(EA/M | BEBRERE(B/R) | XS R
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Bit| 1450.0 (10%) 800. 0 3 UHREC: 3000.0, PH: 6.5
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ET (ml/hr/plant)

G3-1_0, Day=22 (2025-06-03)

1.0 - 1000

agp, VERRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 814
0.8 A 727 - 750

- 500

- 250

optEC0=1800. 0, setECB=3000.0

optPH0=6. 5, setPHB=6.5

0.2~

959 ;

10| ByMoFy @022 02:07: ET=814 Fg=800.0 Ro=0.0 1000

50 - 500

1
1
1
i
1
1
b —© g—=o
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

ES ES 1= E3 ES ES 1= E3 ES ES 1= E3 ES ES 1= E3 ES E3 1= E3 ES ES 1=
g H i H H H i H g B A B B B A B B B A B B B A

1.0 A

o

™
T,

0.8 -

0.6 1

0.4+

0.2~

0.0
800 A

600
400 ~

200 A
"PPFD_obs’] is missing

"To_obs'] is missing

—— RH Warning: col ['RH obs’, 'RHo obs’] is missSY

0.6 1

0.4+

0.2~

00 T T T T
0.0 0.2 0.4 0.6 0.8 1.0

FRV (ml d-1)

cumET (ml/plant)



hour

:35

:55

105

:50

140

:35

140

S & B A K e
‘3{%»’&\%-‘4%%%8&%&%\‘*
U Ut N N S D HRVS SN U U A N
%%%QQ\&&_@Q&%‘_@&

100

80

- 60

- 40

§_



G3-1

BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS EX

06:35 105 80.0 1.728 (2 =| {Ri%@06:35 B (FEAKEHSE)
07:30 105 80.0 1.728 5| 1RiR@07:30 Bz (KREAEES)
08:25 105 80.0 1.728 = {RRiB008:25 B (RFAKEE)
09:35 105 80.0 1.728 | 1Ri&e09:35 Bz (KREAEES)
10:35 105 80.0 1.728 5| 1Ri%@10:35 Bz (REAEESE)
11:55 105 80.0 1.728 =l RRiBe11:55 Bz (RFEAEEE)
13:05 105 80.0 1.728 | =| 1Ri%e13:05 Bz (RAEREE)
13:50 105 80.0 1.728 |Z=| 1BRige13:50 Bzh (REERESE)
14:40 105 80.0 1.728 |2 =| 1BRi%e14:40 Bz (kAEREEE)
15:35 105 80.0 1.728 | =| 1Ri%e15:35 Bz (RAERESE)
16:40 105 80.0 1.728 | =| 1Ri&016:40 B3h (RAHERESE)
23t 1155.0 (113%) 880.0 32 3FKEC: 3000.0, PH: 6.5
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